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General English - General English

Question No.1

Choose the word which means most nearly the same as the given word " ARCANE ".
(A) O Secret (Correct Answer) (Chosen option)

(B) O Lucid
(C) ©O Common
(D) O Normal

Marks: 1.00
Bookmark

Question No.2

Choose the word which means most nearly the same as the given word " CHARLATAN ".
(A) O Philanthropist

(B) O Biker
(C) O Receiver
(D) O Imposter (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.3

Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The economic situation of farmers in the country is a dismal one which has caused
many of them to lose their livelihood.

(A) O inthe country is a dismal one which have

(B) O in the country are a dismal one which has

(C) O inthe country are a dismal one which have

(D) O The given sentence is correct (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.4

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A hole or tunnel dug by a small animal, especially a rabbit, as a dwelling
(A) O Asylum

(B) O Cache
O
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Marks: 1.00
Bookmark




©) Cloakroom
(D) O Burrow (Correct Answer) (Chosen option)

Question No.5 Marks: 1.00

Bookmark
Select the one word which can substitute the given phrase/sentence.

A false written statement to damage a person’s repute.
(A) O Flounder

(B) O Protocol
(C) O Universal
(D) O Libel (Correct Answer) (Chosen option)

Question No.6 Marks: 1.00

Bookmark
Fill in the blank with suitable tense.

Mysister____ rice for me.
(A) O cook

B) O have cooked

(
(C) O has cooked (Correct Answer) (Chosen option)
(D) O cooking

Question No.7 Marks: 1.00

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Disperate

(B) O Indolance

(C) O Avenge (Correct Answer) (Chosen option)
(D) © Domesticatad

Question No.8 Marks: 1.00

Bookmark
Choose the word which expresses nearly the opposite meaning of the given word "
FACTITIOUS "

(A) O Genuine (Correct Answer) (Chosen option)
(B) O affected

(C) O unnatural

(D) O Feigned

Question No.9 Marks: 1.00

Bookmark
Fill in the blank with suitable word from the given options.

The noise from the machinethat____ the oxygen frightened her.
(A) O chased

(B) O circulated (Correct Answer) (Chosen option)
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(C) O taxed
(D) O merged
Question No.10 Marks: 1.00
Bookmark
Fill in the blank with suitable word from the given options.
Surprisingly, the lab results with the physician’s diagnosis.
(A) O understand
(B) O trace
(C) O contradict (Correct Answer) (Chosen option)
(D) O urge
Question No.11 Marks: 1.00
Bookmark
Find the word which is correctly spelt from the given options.
(A) O Trenchant (Correct Answer) (Chosen option)
(B) O Martiel
(C) O Diseminate
(D) O Thesarus
Question No.12 Marks: 1.00
Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
Although he have been with his partner for more than 30 years, Rohan remains legally
unmarried.
(A) O has been with his partner for (Correct Answer) (Chosen option)
(B) O has been with his partner beside
(C) O have being with his partner for
(D) O The given sentence is correct
Question No.13 Marks: 1.00
Bookmark
Select the one word which can substitute the given phrase/sentence.
Rules governing socially acceptable behaviour.
(A) O Adonis
(B) O Avaricious
(C) O Annihilate
(D) O Etiquette (Correct Answer)
Question No.14 Marks: 1.00
Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.
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Theriver Gangesflows ___ Uttar Pradesh.
(A) O asfaras

(B) O against
(C) O owingto
(D) O through (Correct Answer) (Chosen option)

Question No.15 Marks: 1.00

Bookmark
In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A) A defeat against Mumbai Indians at Thursday / (B) ended CSK's playoffs hopes and
after the game Dhoni spoke / (C) about the future, dropping a hint that he would be part
of it. / (D) No Error

(A) O C
(B) O D (Chosen option)
(C) O A (Correct Answer)
D) O B

Question No.16 Marks: 1.00

Bookmark
Fill in the blanks with suitable Article from the given alternatives.

He is going for cup of coffee.

(A) O the

(B) O an

(C) O a(Correct Answer) (Chosen option)
(D) O No article

Question No.17 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

volley ball, I play cricket and hand ball.
A) O Besides (Correct Answer) (Chosen option)

(
(B) O Since
(C) O Because
(D) O Beside

Question No.18 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

| will meet you the entrance of our college.
(A) O at (Correct Answer) (Chosen option)

(B) O with

(C) O for
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(D) O over

Question No.19 Marks: 1.00
Bookmark
Choose the word which expresses nearly the opposite meaning of the given word *
SMUTTY ".
(A) O Rough
(B) O Nasty
(C) O Foul
(D) O Clean (Correct Answer) (Chosen option)
Question No.20 Marks: 1.00
Bookmark

Find the word which is correctly spelt from the given options.
(A) O Imperative (Correct Answer) (Chosen option)

(B) O Preminent

(C) O Rapprochment

(D) O Perissh

Question No.21 Marks: 1.00

Bookmark
In the following question, one part of the sentence may have an error. Find out which

part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

(A )Anand, a five-time world champion, has been nominated / (B) by Dvorkovich as part
of his team for fight / (C) the forthcoming elections. / (D) No Error

(A) O A

(B) O

(Cc)O C (Chosen option)
(D) O B (Correct Answer)

Question No.22 Marks: 1.00

Bookmark
Fill in the blank with suitable tense.

The air strange.

(A) O smells (Correct Answer) (Chosen option)
(B) O smell

(C) O have smell

(D) O has smell

Question No.23 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
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(A) O have most freedom because they
) O has the most freedom because they

(B
(C) O have more freedom because they (Correct Answer) (Chosen option)
(D) O The given sentence is correct

Reputed colleges has more freedom because they exist outside the city limit.

Question No.24

Fill in the blanks with suitable Article from the given alternatives.

The coffee cup is made of copper.
(A) O an

B) O

(C) O the
(D) O No article (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.25

Fill in the blanks with suitable Article from the given alternatives.

Emotionsconvey ____ lot of information.
(A) O No Article

) O the

(B
(C) O a(Correct Answer) (Chosen option)
(D) O an

Marks: 1.00
Bookmark

Odia Language - Odia Language

Question No.1

‘Y 619 2l 6ms |

(A) O gem

(B) O @0

(C) O 65l (Correct Answer)
(D) O g9

Marks: 1.00
Bookmark

Question No.2

ge QaG QIR |

(A) O aueie

(B) O cRIQIQT

(C) O auai@

(D) O quQue (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.3
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Marks: 1.00




Bookmark

Question No.4 Marks: 1.00

Bookmark
‘R 616 F66178 QUG @612

(A) O @,
(B) O @Ia,
(C) O @@ (Correct Answer)
(D) O @Ae (Chosen option)

Question No.5 Marks: 1.00
_ Bookmark
arge 90 94dg QIg |
(A) O «#l (Correct Answer)
B) O @
(C)O @6
(D) O &

Question No.6 Marks: 1.00

Bookmark
'ARRAIRT- 60Q QAN ?

() O 69 gga

(B) O aMIUe

(C) O @g91@ (Correct Answer)
(D) O @I (Chosen option)

Question No.7 Marks: 1.00

Bookmark
J6IQIoe 66184 JQT QIS |

(A) O @leeai

(B) O eQiee

(C) O QIS@Y (Correct Answer) (Chosen option)
(D) O Qa1

Question No.8 Marks: 1.00

Bookmark
QG QIOQ F661]Y QT QI |
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A) O Q11
B) O 6@@I&id (Correct Answer) (Chosen option)
C) O Qg
D) O Q@

A~ o~ o~ o~

Question No.9 Marks: 1.00

Bookmark
‘FERR 2Q YNGR QT Q61?

(A) O g@een

(B) O ¢]@1 (Correct Answer) (Chosen option)
(C) O g¢ggel

(D) O ¢gén

Question No.10 Marks: 1.00

Bookmark
9Qd ¢l966a @dl Q0 28 | 6adiae 1T IR P @a?

(A) O VARJPE
(B) O «eres
(C) O QIRIRy@Asl (Correct Answer) (Chosen option)
(D) O dier@as

Question No.11 Marks: 1.00

Bookmark
'60IQ' - 510Q FAAG 6@ @'6l ?

(A) O eQud (Correct Answer) (Chosen option)
(B) O aua

(C) O e

(D) O eqid

Question No.12 Marks: 1.00

Bookmark
‘Q6QIGY S1QQ AR @A |

(A) O oegh+q
(B) O o+aeglay
(C) O @@+B4 (Correct Answer) (Chosen option)
(D) O ogi+Elgy

Question No.13 Marks: 1.00

Bookmark
Q6q]Q 60 CIQ ‘dFIRI' 61QQ JOSIRT 5912 |

(A) O @elisl (Correct Answer) (Chosen option)
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(B) O fale
(C) O a1
(D) O feie

Question No.14 Marks: 1.00

B Bookmark
'qel' - RQ QAR 6l @'81 ?
A) O
(B) O €1@ (Correct Answer)
(C) O el
(

D) O qiei@

Qe
gGe

Question No.15 Marks: 1.00

Bookmark
'6dIgl' - QR QARG §IQ @'6l ?

(A) O @gg
(B) O @Q@eq6l (Correct Answer) (Chosen option)
(C) O Qge
(D) O Qg

Question No.16 Marks: 1.00
Bookmark

RIQ 6066 GR'Q gose gew?
QAR

alala
3

deqlig
A) O @
(B) ©
(€) O Qél (Correct Answer) (Chosen option)
(D) O @

Question No.17 Marks: 1.00

Bookmark
Qg 606q QI |

(A) O 2iegg
(B) O 90620
(C) O aQQI§ (Correct Answer) (Chosen option)
(D) O RaEe!

Question No.18 Marks: 1.00

Bookmark
DAY - IRQ FAAG §IQ '8l ?

e
(A) O 4ieas (Correct Answer) (Chosen option)
(B) O gam

O
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©  goa
(D) O Qa8

Question No.19

‘QITR 6198 AR FQAE @ |
(A) O eduiag

(B) O agm 0Q9Q¥ (Chosen option)
(C) O 2ape (Correct Answer)
(D) O g9

Marks: 1.00
Bookmark

Question No.20

'J6ARRIE' 610 6QI616R 606 ARG 99 ?
(A) O asgen

(B) O @@14l (Correct Answer) (Chosen option)
(C) O &g

(D) O agm

Question No.21

‘dQid'a QANPERRIR 61RG @61?

A) O g9ia

B) O dgq

C) O ge@Ia (Correct Answer) (Chosen option)
D) O geQiél

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Question No.22

'60 RQQ AL 1- QIRYER el 'RPY 6RE6 FVG ?

(A) O agm

(B) O &g

(C) O gou

(D) O «a=a1 (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

Question No.23

0@ 6R (RIQ 6R4 606 O - 09In 82l ?

(A) O gaede

(B) O qsslede

(C) O gsaie@de (Correct Answer) (Chosen option)
O
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Bookmark




(D)  ¢sdele

Question No.24

‘AR’ - ARQ AFITERRIP 610 @'l ?
(A) O s

(B) O &g
(C) O gaea (Correct Answer) (Chosen option)
(D) O @ig

Marks: 1.00
Bookmark

Question No.25

262 QAL BgRLINT ! 6QGIRE AOT 606 2Q4a, ?
(A) O QUIQIOR 2L,

(B) O @1q Qide aey,
©€) O dIQalieRIe 2L
(D) O aeqrIeges 244 (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

General Studies - General Studies

Question No.1

A train traveling at 144 km/h completely crosses another train which is half its length
and traveling in the opposite direction at 36 km/h in 6 s. If it also passes a railway
platform in 45 s, then find the length of the platform. (In m)

(A) O 1900
() O 1800
(C) O 1600 (Correct Answer)
(D) O 1700

Marks: 1.00
Bookmark

Question No.2

A grocer has a sale of Rs.6535, Rs.7027, Rs.6955, Rs.7330 and Rs.6362 for 5

an average sale of Rs.66007? (In Rs.)

(A) O 5391 (Correct Answer) (Chosen option)
(B) O 5385

(C) O 5387

(D) O 5389

consecutive months. How much sale should he have in the sixth month so that he gets

Marks: 1.00
Bookmark

Question No.3

What is 15% of 40% of 45% of 60% of 450007?
(A) O 749

(B) O 729 (Correct Answer) (Chosen option)
(C) O 739
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Bookmark




(D) O 719

Question No.4 Marks: 1.00

Bookmark
What is the sex-ratio of Odisha (female per 1000 males) as per census 2011?

(A) O 979 (Correct Answer) (Chosen option)
(B) O 988
(©) O 940
(D) O 935

Question No.5 Marks: 1.00

Bookmark
Dr. B.R. Ambedkar considered which of the following as ‘heart and soul’ of the Indian
Constitution?
(A) O Fundamental Duties
(B) O Preamble (Chosen option)
(C) O Right to Constitutional Remedies (Correct Answer)
(

D) O Directive Principles of State Policy

Question No.6 Marks: 1.00

Bookmark
Find the next term in given series.
HELICOPTER, ICOP, ELICOPTE, CO, ?
(A) O LICOPT (Correct Answer) (Chosen option)
(B) O COPTE
(C) O LICOPTE
(

D) O ICOPTE

Question No.7 Marks: 1.00

Bookmark
Who is the first chairperson of National Human Rights Commission of India?

(A) O Justice Santhosh Hegde
) O Justice M Venkatachalaiah

(B
(C) O Justice Ranganath Misra (Correct Answer) (Chosen option)
(D) O Justice J S Verma

Question No.8 Marks: 1.00

Bookmark
Find the next number in the series.
1,13, 50, 162, 499, ?
A) O 1411
(B) O 1511 (Correct Answer) (Chosen option)
(C) O 1611
(

D) O 1711

Question No.9

Marks: 1.00
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Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii.
You have to assume everything in the statement to be true, then consider the two
conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.
Statement: With average farm size in India shrinking, the dream run in tractor sales
could end.
Conclusion:
i) Tractor sales depends on the average farm size.
ii) Tractor sales depends on rainfall as the shrinkage of farm size is due to lack of
rainfall.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

(A) O D
B) O

(C) O B
(D) O A (Correct Answer) (Chosen option)

Question No.10 Marks: 1.00

Bookmark
In a certain code language, if STAR is coded as UWCU, then how is CITY coded in that
language?

(A) O FLWB (Chosen option)
(B) O XRGB
(€) O EKVA
(D) O ELVB (Correct Answer)

Question No.11 Marks: 1.00

Bookmark
In a democracy, the final decision making power must rest with those

(A) O belong to Aristocrat class

(B) O elected by the People (Correct Answer) (Chosen option)
(C) O in Army

(D) O in Judiciary

Question No.12 Marks: 1.00

Bookmark
Find the units digit of the product 676 x 376 x 437 x 913 x 423 x 337 x 421.

(A) O 6 (Correct Answer) (Chosen option)
(B) O 12
€) O 10
(D) O 8

Question No.13 Marks: 1.00
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Bookmark
By selling a pen drive for Rs. 1710, a shopkeeper incurs a loss of 24%. Find the cost price
of the pen drive. (In Rs.)

A) O 2275
) O 2150
c) O 2200

(
(B
(
(D) O 2250 (Correct Answer) (Chosen option)

Question No.14 Marks: 1.00

Bookmark
Which of the following is the northernmost range of the Himalayas?

(A) O Himachal

(B) O Siwaliks

(C) O Himadri (Correct Answer) (Chosen option)
(D) O Purvanchal

Question No.15 Marks: 1.00

Bookmark
Who was called the Tiger of Mysore?

(A) O Hyder Al

(B) O Tipu Sultan (Correct Answer) (Chosen option)
(C) O Krishnaraja Wodeyar

(D) O Krishnadeveraya

Question No.16 Marks: 1.00

Bookmark
Which of the following temples in Bhubaneswar is dedicated to Goddess Chamunda?

(A) O Parasurameswar temple

(B) O Swarna Jaleswara Temple

(C) O Mukteswar temple

(D) O Vaital Deula Temple (Correct Answer) (Chosen option)

Question No.17 Marks: 1.00

Bookmark
Which Country has topped the medal table in the Beijing Winter Olympics 2022?

(A) O Norway (Correct Answer)

(B) O United States of America (Chosen option)
(C) O Germany

(D) O People's Republic of China

Question No.18 Marks: 1.00

Bookmark
Which of the following parts of the Indian Constitution instruct the citizens to value and
preserve rich heritage of the country?

(A) O Preamble
(B) O Fundamental Rights
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(C) O Directive Principles of State Policies (Chosen option)
(D) O Fundamental Duties (Correct Answer)

Question No.19 Marks: 1.00

Bookmark
How many fundamental duties are there in the Indian Constitution at present?

(A O 13
) O 12

(B
(C) O 11 (Correct Answer) (Chosen option)
D) O 14

Question No.20 Marks: 1.00

Bookmark
Where does the River Mahanadi originate in India?

(A) O Mizoram
) O Maharashtra

(B
(C) O Chhattisgarh (Correct Answer) (Chosen option)
(D) O Meghalaya

Question No.21 Marks: 1.00

Bookmark
When was the Financial Literacy week observed by RBI in 2022?

(A) O April14to0 18

(B) O February 14 to 18 (Correct Answer)
(C) O January 1410 18

(D) O March 141018

Question No.22 Marks: 1.00

Bookmark
A box containing the denominations of fifty paise coins, one rupee coins and two rupee

coins amount to Rs.315. There are equal number of coins in all denominations. What is
the total number of coins in the box?

(A) O 90 (Chosen option)
(B) O 240
(€ O 110
(D) O 270 (Correct Answer)

Question No.23 Marks: 1.00

Bookmark
Which among the following was the first Odia Newspaper?

(A) O Matrubhasha

(B) O Utkal Samaj

(C) O Utkal Patra

(D) O Utkal Deepika (Correct Answer) (Chosen option)

Question No.24 Marks: 1.00
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Bookmark
Which of the following companies established Special Economic Zone(SEZ) for

aluminium and aluminium products in Sambalpur district of Odisha?
(A) O VAL

(B) O NALCO
(C) O HINDALCO (Correct Answer)
(D) O BALCO

Question No.25 Marks: 1.00

Bookmark
Find the LCM of 18/19 and 20/21.

(A) O 200
(B) O 190
(C) O 180 (Correct Answer) (Chosen option)
(D) O 210

Question No.26 Marks: 1.00

Bookmark
A man facing in South-West direction turns 45 degrees clockwise, then turns 45 degrees

anti-clockwise and then turns 90 degrees in clockwise direction. Which direction is he
facing now?

(A) O North-East

(B) O East

(C) O North

(D) O North-West (Correct Answer) (Chosen option)

Question No.27 Marks: 1.00

Bookmark
Find the next number in the series.

46,127,202, 271, 334, ?
(A) O 401

(B) O 391 (Correct Answer) (Chosen option)
() O 381

(D) O 371

Question No.28 Marks: 1.00

Bookmark
National Highways Authority of India (NHAI) was constituted by an Act of Parliament in
the Year:

(A) O 1988 (Correct Answer)
(B) O 1991
() O 2005
(D) O 1978

Question No.29 Marks: 1.00

Bookmark
What is the Poverty ratio of Odisha in 2011-12?
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A) O 32.59% (Correct Answer)
B) O 39.21%
C) O 37.91%
D) O 34.81%

A~ A~ o~ o~

Question No.30 Marks: 1.00

Bookmark
Which state has the highest literacy rate in India as per Census 2011?

(A) O Goa

(B) O Tamil Nadu

(C) O Mizoram

(D) O Kerala (Correct Answer) (Chosen option)

Question No.31 Marks: 1.00

Bookmark
What value should come in the place of question mark (?) in the following question?

(44.7+347.33+3347.333+33347.3333)+50 = ?
(A) O 741.72

(B) O 741.37
(C) O 741.75
(D) O 741.73 (Correct Answer) (Chosen option)

Question No.32 Marks: 1.00

Bookmark
A woman walked 5km in the West direction, took a left turn and walked 9km and walked

23km after taking another left. She then walked 9km in the North direction and finally

took a left turn and covered the distance of 4km. How far is the starting point from the
ending point?

(A) O 17km
(B) O 14km (Correct Answer) (Chosen option)
(C) O 15km
(D) O 12km

Question No.33 Marks: 1.00

Bookmark
Find the fraction of 0.5055555...

(A) O 455/900 (Correct Answer) (Chosen option)
(B) O 453/900
(©) O 457/900
(D) O 555/900

Question No.34 Marks: 1.00

Bookmark
Maa Sarala Temple is located in which district of Odisha?

(A) O Jagatsinghpur (Correct Answer)
(B) O Kandhamal

(C) O Sonepur
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(D) O Balasore

Question No.35 Marks: 1.00

Bookmark
Which among the following Acts of the British government was also known as the "Black
Act"?

(A) O The Regulating Act of 1773

(B) O Rowlatt Act of 1919 (Correct Answer) (Chosen option)
(C) O Indian Council Act of 1892

(D) O Pitt's India Act of 1784

Question No.36 Marks: 1.00

Bookmark
The International Mother Language Day (IMLD) is observed annually on:

(A) O 31st March
) O 13rd July

(B
(C) O 21st February (Correct Answer)
(D) O 12th June

Question No.37 Marks: 1.00

Bookmark
In what ratio must a grocer mix two varieties of pulses costing Rs.69 and Rs.92 per kg

respectively so as to get a mixture worth Rs.79.5 per kg?
(A) O 21:25

(B) O 25:19
(€) O 21:28
(D) O 25:21 (Correct Answer) (Chosen option)

Question No.38 Marks: 1.00

Bookmark
Which one of the following gases is mainly responsible for ozone layer depletion in
Stratosphere?

(A) O Chlorofluorocarbons (Correct Answer)
(B) O Terpenes

(C) O Carbon Dioxide (Chosen option)

(D) O Dimethyl Ether

Question No.39 Marks: 1.00

Bookmark
Which of the following is the largest National Park in India?

(A) O Desert National Park

(B) O Kazinag National Park

(C) O Dachigam National Park

(D) O Hemis National Park (Correct Answer)

Question No.40 Marks: 1.00
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Bookmark
A train passes a telegraph post in 28 seconds moving with a speed of 243 km per hour.
Find the length of the train. (In metres)

(A) O 1890 (Correct Answer) (Chosen option)
(B) O 1896
() O 1894
(D) O 1892

Question No.41 Marks: 1.00

Bookmark
Where did the Sepoy mutiny begin in 1857?

(A) O Awadh

(B) O Meerut (Correct Answer) (Chosen option)
(C) O Kittor

(D) O Delhi

Question No.42 Marks: 1.00

Bookmark
Read the given details carefully and answer the question given below

A+B means A is the brother of B
A-B means A is the sister of B
A*B means A is the father of B
A/B means A is the mother of B

In the relation P-Q-R+S+T, how is P related to T?
(A) O Father

(B) O Cousin
(C) O sister (Correct Answer) (Chosen option)
(D) O Brother

Question No.43 Marks: 1.00

Bookmark
Who among the following is called the 'first citizen of India'?

(A) O Vice President of India

(B) O Attorney General of India

(C) O President of India (Correct Answer) (Chosen option)
(D) O Prime Minister of India

Question No.44 Marks: 1.00

Bookmark
How many Member States are there in United Nations Human rights council?

(A) O 45
(B) O 48
(€) O 50
(D) O 47 (Correct Answer)
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Question No.45 Marks: 1.00

Bookmark
What is the normal term of Lok Sabha?

(A) O Six years

(B) O Five years (Correct Answer) (Chosen option)
(C) O Four years

(D) O Three years

Question No.46 Marks: 1.00

Bookmark
Who among the following succeeded Mughal Emperor Babur in the year 15307

(A) O Jalaluddin Akbar

(B) O Jahangir (Chosen option)
(C) O Shah Jahan

(D) O Humayun (Correct Answer)

Question No.47 Marks: 1.00

Bookmark
Who first discovered the Hathigumpha inscription in Udayagiri?

(A) O Jemes Prinsep

(B) O MKittoe

(C) O A. sterling (Correct Answer)
(D) O A. Cunninggam

Question No.48 Marks: 1.00

Bookmark
is the natural aging of a lake by nutrient enrichment of its water.

A) O Esterification
) O Eutrophication (Correct Answer)
C) O Saponification

(
(B
(
(D) O Podzolisation

Question No.49 Marks: 1.00

Bookmark
Which of the following Macro-nutrient is measured in Soil Health Card Scheme in India?

(A) O Copper

(B) O Iron

(C) O Boron

(D) O Phosphorus (Correct Answer)

Question No.50 Marks: 1.00

Bookmark
A can do a piece of work in 1455 days. B is 25% more efficient than A. Find the number
of days taken by B to do the same piece of work.

(A) O 1162
B) O 1166
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(€) O 1167
(D) O 1164 (Correct Answer) (Chosen option)
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